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Note: From the following elght questlons write any four qllestlon S answer ; o

Que,l.Deﬁne Cost Accounting. Desenbe the advantages and limitations of icost aceoﬁoting;3 :-f;,:‘ S

| Que 2(A) Expl ln"'E"

Sentials of sound system of Cost Accounting.

=D1fferertce between Cost accounting and Fmanc;al Accountlng

Que.3. The followmg partlculars are obtatned from the books of Ra_jesh Ltd for the year
2019. ' - A : RS - '

Production ano 'sales (20 000'units) Rs.25,00,000

Direct mater"‘:I'”'Rs 8 005000 |

~ Direct wages Rs 4 00,000
Factory overheads (60 %Varia_ble) Rs.4,00,000
Office overheads (80 % ﬁ“xed) Rs.2,50,000

- 'selhng overheads}t.(60: %vartable) Rs, 1 50,000 .

;t% e year 2020 itis estlmated that—

(1) The Production and Sales w111 increase by 25 %,

(2) Direct Materials per unit will rise by Rs.5.

(3) Fixed factory overheads will be increased by Rs. 37, 500

(4) Variable sélling over_heads will increased by Rs. 0.50 per unit.
(5) The: rate of pf?ﬁt wil] be 20 % on cost. '

Preoare:

¢} Statement of cost showing total as well as per unit cost and profit for the year 20]9
(2) A statement of cost showing estimated profit for the year 2020,

@




Qued. (A). From the foHowmg data prepare a reconc111at|on statement o '

(1) Profit as per cost accounts Rs.1 40 000
) Works overhead under recoveréd Rs.12,000

(3) AdmlmstratWe ovérhead under recovered Rs.24,000

4y Selhng ovethead over recovered Rs. 22,000 _

(5) Over valuation of opening stock in cost accounts 16, 000

(6) Over valuation of closing stock in cost accounts Rs.9, 000

(7) Interest earned during the year Rs.4,500 '

-(8) Rent recelved during the year Rs. 28,000

- (9 Bad debts written off during the year Rs.11,000 Coe

l( 10). Prehmlnary expenses written of during the year Rs.17, 000 '-

(B). DISCUSS Causes of disagreement of profit as per cost and ﬁnanmal accounts
Que.3. (A) Descrrbe Types of Materlal

(B).Arvind has taken 100 hours to complete job, The wage rate per hour 1s Rs 30 If he ?; ;‘
received Rs 4,000 as total wages according to Rowan plan, what will be the amount ot’ wages
earned by hxm accordlng to Hasley Plan, Time wages system and Piece v wages system?‘il A

Que 6(A) What rdre the cause of Labour Turn Over? Discuss.
(B).From the followmg partrcularscalculate:* :

(1) Re-Order Level

() Maximum Level - ‘

s "(3) Minimum Level ' o,

it Mininfum: daily consumption 60 units,

*~Maximum daily consumption 130 units.
- Average daily consumption 100 units.

Economic Order Quantity. 5,000 units. -

Re- order period 25 t0 30 days.

: 'If Annual requ1rements 1,600 umts Cost of materlals riss
cost of placirig an order Rs. 50, Annual carrymg cost-10 %,
.‘,l_,xout Economic Order Quantity. -

Que.7. Ina factory there-are three production departments A, B and C, and two service -
departments D and E. The detalls of the expenses durmg October 2020 are as under S

Power " Rsl 500

" Rent and rates: | R&./5,000
Indirect waglesi kRs.é‘1‘1,000=
General Lighting ‘ . Rs.600




Depreciation of Machine Rs.'9,900.,:
Contribution of E.S.I.  Rs.5,500
Canteen expenses 6,000 -

Insnr_ance-""'” . ?‘13,200 ‘_

Other information:

Particulars o A B | C T

1.Lighting points‘ 7 _E _ 6 5 4

ST 4500 | 4200 | 3,000 { 1

o 2. Dircct wages.R: J;,f ; j; '

3 Costof Machine Rs. 72,000 | 48,000 | 36,000 | 1,200 [ 1,200 |-

4. Horse power of machine 400 600 200 ,--—;. S

5. Space occupied sq. ft. o 6,000 {4,000 | 5,000 y 3,000~ 2,000 '.

6. Number of workers | 50 6 | 40 - 30 | 20.]

The beneﬁt of the service department D and E is derived by the other departments in the
following proportion. =~ o . : T S

Department | TA B C D B

oD ] 2% | 0% | 0% | .|

LB | 40% | 20% | 30% | 10%

Prepare statement showing: ! ‘f

1) Drstrlbutron of overheads'to various departments e
(2) DIStrlbthlO[l of expenses of service department to productlon departmentunder
Repeated dlStI‘lbthIOH method. :

Que.8. The followmg annual charges are incurred in respect of machines in a shop where
work is done by means of 5 machmes of exactly 51m11ar type of specrﬁcatlon

Rent and Taxes Rs.24, 000 o A f > | '
' Depreclation on of each Machme Rs. 2,500 o L

._,(.

irs: ] ‘the fiVe maehlnes Rs.5,000




POwer consumed @ 50 paisa per unit. Rs.15,000
Electric charges Rs.2,700

Attendants- there are ﬁyo attendants for the five machines and they‘farejf.cachjp'c}id L
Rs.300 per month! T
: | Supe'r.v_ision’ﬁfo.r the f;';vfe ‘machines there is one supervisor whose saiafy IsRS 1’25 ;

Sundry sul:.)pl.iés Rs.2,250
The machine used 10 units of poWef per hour,

Calculate the machine hour rate for the machine.
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